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i 100kN/M%#BZ % -l -~ = -|I3mx#EZB - ~ = = -| 100kN/M%#8 % % = -~ = —[3mZEEZSD -~ = = =
ZThLst 1.00/0.00 ~ 5.42 67.62| 1 Lis 1000 ~ 0.00] 1.66 8.38 ZhLs 1.00|] 5.00 ~ 6.00 67.62| 1 Llst | 500 ~ 6.00] 1.66 8.38
2 100kN/ Mm% x5 -l -~ = -[3mZEBRB| - ~ = = - 100kN/ M %E#BZ % = -~ = ~-|3mEBZD o ~ = - -
Zh st 1.00/0.00 ~ 6.43 80.99| #h L5 1000 ~ 0.00] 1.71 8.65 ZhUst 1.00] 500 ~ 7.62 80.99| ZhList | 500 ~ 7.62| 1.71 8.65
3 100kN/M%#BZ % 1.00/0.00 ~ 0.41 106.11|3mZE#EZD| - ~ = = —-| 100kN/M%#8 % % 1.00/ 10.53 ~ 11.66 106.11|3m%#B x5 -~ = = =
ZhLst 1.00{041 ~ 8.20 100.00] Zh st [0.00 ~ 8.20] 2.19 11.08 ZhLs 1.00f 5.00 ~ 10.53 100.00] Zh st | 500 ~ 11.66) 2.19 11.08
4 100kN/ Mm% x5 -l -~ = -[3mZEBRB| - ~ = = - 100kN/mM%E#BZ % = -~ = ~-|3mEFBZD o ~ = - -
Zh st 1.00/0.00 ~ 752 96.18] #hList |000 ~ 752| 2.32 11.70 ZhUst 1.00] 500 ~ 10.18 96.18] ZhList | 500 ~ 10.18] 2.32 11.70
5 100kN/M%#BZ % 1.00/0.00 ~ 0.63 109.41|3mZ#EZB| - ~ = = -| 100kN/M%#8 % % 1.00| 10.60 ~ 12.47 109.41|3m%#B x5 -~ = = =
ZThLst 1.00/0.63 ~ 8.42 100.00] Zh st [0.00 ~ 842| 2.13 10.77 ZhLs 1.00f 5.00 ~ 10.60 100.00] Zhust | 500 ~ 1247 2.13 10.77
6 100kN/m%#B 2% 1.00/000 ~ 1.71 126.19(3m%#Bz3| - ~ = = -] 100kN/m%# % % 1.00| 10.85 ~ 17.94 126.19[3m%# 23 = ~ = = =
Zh st 1.00/1.71 ~ 949 100.00|] ZhLust [0.00 ~ 949| 225 11.37 ZhUst 1.00|] 500 ~ 10.85 100.00] £hlust | 500 ~ 17.94] 225 11.37
100kN/M%#BZ % ~ 3ImZHBZ D ~ 100kN/mM%#BZ % ~ KN ) ~
ZThLst ~ ZhLs ~ ZhLs ~ Zh s ~
100kN/ Mm% x5 ~ ImERZD ~ 100kN/m%#8 23 ~ ImEBZD ~
Zh s ~ ZhUs ~ ZhUst ~ Zh s ~
100kN/M%#BZ % ~ ImZHBZD ~ 100kN/mM%#BZ % ~ KN ) ~
ZhLst ~ ZhLs ~ ZThLs ~ Zh s ~
100kN/ Mm% 2% ~ ImEHZD ~ 100kN/m%#8 23 ~ ImEBZD ~
Zh s ~ ZhUst ~ ZhUst ~ Zh s ~
100kN/M%#BZ % ~ 3ImZHBZ D ~ 100kN/mM%#BZ % ~ ImEBZRD ~
ZThLst ~ ZThst ~ ZhLs ~ Zh s ~
100kN/ Mm% x5 ~ ImEREZ D ~ 100kN/m#%#8 2% ~ ImEEZD ~
Zh s ~ ZhUs ~ ZhUs ~ Zh s ~
100kN/M%#BZ % ~ 3ImEBA D ~ 100kN/m%i#B 2% ~ ImEHEAD ~
Fhst ~ Zh S ~ Zh s ~ ZhUs ~
100kN/mM%#BZ % ~ ImERBZR D ~ 100kN/m%E# % % ~ ImEBZRD ~
Zh st ~ ZhLst ~ ZhLst ~ ZhUs ~
100kN/M%#BZ % ~ 3ImEBA D ~ 100kN/m%i#B 2% ~ ImFHBZ S ~
ZhLlst ~ ZhLst ~ ZhLst ~ ZhUs ~
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